R B X ik & #&% &

R B E KR () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 423,268 -1.0 338, 726 0.8 761,994 -0.2
" %8 Hy 174, 336| -0.6 150, 166 0.4 324,502 -0.1
B 1% 303,670 -0.2 184, 108| -0.8 487,778 -0.4
e LN Y 185,184 -1.3 117,774 -1.5 302,958 -1.4
i Hy 212,978] -1.1 83,714 0.2 296,692 -0.8
Hi I 379, 696 0.2 268, 090 1.4 647, 786 0.7
x 3 L 116, 318 0.4 74, 130 0.8 190, 448 0.5
K P 115,696 -0.7 66, 196| -0.7 181,892 -0.7
i i 174,700 -0.3 92, 484 0.3 267,184 0.1
i 15 224, 160 0.5 147,142 -0.3 371, 302 0.2
e R, 103,124 -0.5 49, 764 0.2 152,888 -0.3
Fe + 7 30,272 -4.2 10, 800 2.1 41,072 -2.6
oo &l 34, 440 1.9 28, 790 2.3 63, 230 2.1
1 e 488, 358 -1.2 301,442] -0.1 789,800 -0.8
R L oy B 46, 226 0.2 17, 638 .4 63, 864 0.2
R = % 82,888 -0.6 32, 152 .1 115,040 -0.4
= 73 152,330 -0.1 58,744 -0.1 211,074 -0.1
PN oy 119,750 -0.5 67, 044 0.0 186, 794| -0.3
MEMEABRIL, (REAEX2) TEHELTWET,
= 7 3,367,394 -0.5] 2,088,904 0.2| 5,456,298 -0.2




() ANBOHM., T%1 M aiEEmns

o

P 3 A B N wmom AN B (AN
EOM % E A % gt % %

H 379, 696 0.2 268, 090 1.4 647, 786 0.7
K Iy 167, 886 1.6 87, 790 0.3 255,676 1.1
o H 153,580 -1.3 102,412 -0.3 255,992 -0.9
H o= 113,908| -0.2 90, 086| —0.4 203,994 -0.3
& # 137,758 -2.2 119,350 -0.2 257,108 -1.3
12 7 430,074] -0.9 375, 458 0.8 805,532 -0.1
JR i 48,2541 3.7 91, 244 -1.7 139, 498 -2.4
R K 68,204 -1.5 70, 728 8 138,932 -0.3
Fe i 785,830 -0.7 682, 476 0.1 1,468,306 -0.3
Hr R 33, 662 2.3 51,204 22.6 84, 866 13.6
= Y 245,676 -1.7 153,806 -0.7 399, 482 -1.3
H H 46, 180 -0.3 28,528 -1.0 74,708 -0.6
h 18 638, 608| -0.5 450, 916 1.0 1,089,524 0.1
x 73 56, 794 -3.3 46, 928| -2.2 103, 722 -2.8
4 e 90, 748| 2.3 61,438 -1.0 152,186 -1.8
1) A 55,530 -1.4 36,480] -0.8 92,010 -1.2

Uit 49,248 -0.9 37, 008 0.8 86,2566| —0.2

XA BEIT, CGREARX2) THAELTWET,

3,501,636 —0.8]| 2,753,942 0.6] 6,255,578 -0.2




6] K #® () ANBOHM., T%1 M aiEEmns

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
) e 224, 160 .5 147,142 -0.3 371, 302 .2
L + 16, 108 .2 7,280 -0.3 23, 388 .0
N 1] 24, 098 0.4 8, b38 1.3 32, 636 0.6
JEE I a5} 22,018 .1 10, 856 2.5 32, 874 2.9
¥ Eil 19,990, -0.2 8,216 -0.3 28,206 -0.2
[1] ) J5 24, 984 1.0 5,110 -5.7 30,094| -0.2
Y - A N 131, 200 4.5 76, 046 3.2 207, 246 4.0
® o P R 46, 190 1.7 20, 174 1.8 66, 364 1.7
® O F W 43,204 -0.4 20, 130 1.3 63, 334 0.1
®OoE O/ N 98, 912 1.0 54, 636 2.4 153, 548 1.5
bES F [l 3,928] -1.5 3,190 -1.4 7,118 -1.4
A Hh 18,398 -0.3 7,942 0.6 26, 340 0.0
i i) Ji 8,944 -1.9 5, 452 1.7 14,396| -0.6
x5 = 103, 426 0.8 49, 090 2.1 152, 516 1.2
th 2y = 19, 970 0.3 8,518, -0.4 28, 488 0.0
T a5} b 31,434 1.2 14, 970 2.3 46, 404 1.5
x e N 12,134 1.9 6, 250 1.1 18, 384 1.6
W B W 9, 102 0.0 4,052 -0.3 13,154 -0.1
£3) % & 8, 334 4.3 4, 586 0.7 12,920 3.0
/ST S N ) 14,7501 -1.0 18,380 -0.5 33,1301 -0.7
o I (TN 50,326 -0.5 24,870 -0.2 75,196 -0.4
i) JF 11, 450 8.8 4, 958 .8 16, 408 6.9
v £ 12,916 -0.6 6, 300 0.0 19,216 -0.4
x JI 9,722 -1.5 5, 064 1.6 14,786 -0.5
[if] AVA 13,136 -2.0 5,738 -0.9 18,874 -1.6
YA I 171,902 -0.7 139,834 -1.4 311,736 -1.0
XKEREANBEIT, CGREABX2) THELTWET,
= 7 1, 150, 736 0.8 667, 322 0.5| 1,818,058 0.7




K & ¥ ® ) ANBOHM, [%1 WL aaEsmns

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
Moo AR HT 14,7501 -1.0 18,380 -0.5 33,130 -0.7
i I H 21,150 -1.0 5,830 -0.5 26,980 -0.9
[if] 7 5F 30,0100 -1.1 23, 596 0.0 53,606 -0.6
H /I e 15,046 -0.7 7,098 -0.6 22,1441 -0.7
Fel % H 48, 632 1.0 25,222 0.6 73,854 .8
H AT N 20, 532 0.3 8, 562 0.9 29, 094 !
E<l) JEE 26, 416 0.8 9, 252 0.4 3b, 668 0.7
5 7 [EES 86, 620 0.4 39, 906 0.7 126, 526 0.5
[if] i} F 19, 194 0.2 7,290 -0.7 26,4841 -0.1
®_oOOE i o 61, 126 0.4 31, 454 1.3 92, 580 0.7
P il fn 69,800 -1.6 43, 014 0.8 112,814 -0.7
R il fn 38, 674 0.9 14, 850 1.7 53,524 1.1
H I 5] 40, 454 .9 18, 876 2.4 59, 330 1.4
2] i A 87, 228 1.5 46, 998 3.2 134, 226 2.1
[ A A 7 A 13,848 19.1 22,380 24.4 36,228 | 22.3
£ I 26,622 -0.1 10, 832 0.9 37, 454 0.2
Hr = i 19,514 -0.4 13, 480 0.5 32,994 0.0
= B 19,454 -1.4 9,120 -0.6 28,5741 -1.2
£3) it ] 36, 700 2.7 19, 216 3.4 55,916 3.0
Fen N = 44,502| -0.8 27, 064 0.9 71,566 —0.1
b AN ¥ 29,716 -0.4 16, 792 2.0 46, 508 0.5
W N = 20, 530 5.1 10, 278 8.2 30, 808 6.1
Mmoo Kk 15,478 -1.9 6,714 0.2 22,192 -1.3
TR T i 20, 846 1.9 12,874 -1.1 33,720 0.7
i) oA 1% 159,560 -1.0 90, 992 0.5 250, bb2 -0.5
MEEANBEEL, CGREAEX2) TEHELTWET,
= 7 986, 402 0.3 540, 070 1.9 1,526,472 0.9




& = ] () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
oo & 34, 440 1.9 28, 790 2.3 63, 230 2.1
X ] 22,2300 -1.6 11, 652 0.5 33,882 -0.9
3] % 64, 954| -1.8 36, 236 1.3 101, 190 -0.7
H F i 62,112 -1.3 51, 220 2.6 113, 332 0.4
7N HL 11,722 -0.4 7,462 -3.8 19,184 -1.8
05 S 51,050] -1.6 24,606 -0.4 75,656 | -1.2
=a il 50, 746 1.2 24,912 1.8 75, 658 1.4
+ B W % 26,070 -3.0 14,726 -0.7 40,796 -2.2
& H i 74,814 -0.1 38, 918 0.7 113,732 0.2
% WH 23,996 -2.1 13,736 -1.2 37,732 -1.8
N i 134,174 -0.2 83,910 0.2 218, 084 0.0
o il 27,426 -0.9 15, 198 ! 42,624 -0.4
¥ (e Ul 55,500 -2.0 23, 198 .9 78,698 -1.1
K =l 15,614 1.4 7,030 1.0 22, 644 1.3
+H 15 Ji 35,4161 -0.9 20,300 -0.7 55,716 -0.8
& PN 76,788] —0.2 43, 692 0.8 120, 480 0.2
1 JE 14,318 -1.4 5,878 -0.3 20,196 -1.1
N E A B g B B 24, 468| —16.2 9,070 -1.3 33,538 —12.7
il A 6, 452 0.1 3,798 -1.8 10,250 -0.6
AN + + 93, 812 1.8 69, 136 1.3 162, 948 1.6
XEEANBEIL, GREABEX2) THELTWET,
= 7 906, 102] -0.9 533, 468 0.7 1,439,570 -0.3




iR =3 ] () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
R 4 EOM % E A % 7t % %
Ui b 488, 358 -1.2 301,442] -0.1 789,800 -0.8
(P VN ] 62,190 -0.9 60, 384 0.1 122,574 -0.4
£3] N 56,7401 -0.3 54, 478 1.5 111, 218 0.6
£ JI Y 41,024 -0.4 27,2721 0.3 68,296 -0.4
] + 25, 424 0.9 9,028, -0.2 34, 452 0.6
AR )= 27,764 -2.0 12,610 -1.9 40,374 -2.0
% * 24,2901 -1.3 12,222 -0.7 36, 512 -1.1
H # H 48,178 -0.8 24,450 -1.5 72,628 -1.0
T ot =) 28,108 -2.0 13,670 -1.7 41,7781 -1.9
bES £ a 46, 202 0.8 20,412 -1.3 66, 614 0.2
/N B a 26,138 -0.8 11,976 -0.2 38,114 -0.6
PN ity 119,750 -0.5 67, 044 0.0 186,794 -0.3
XEMEANBEIL, GREABX2) THELTWET,
= 7 994, 166| -0.9 614,988 -0.1| 1,609,154 -0.6




R () ANBOHM., T%1 M aiEEmns

o

il % % A B A @ o A B (N
£ % E A % at % %

A 423,268 -1.0 338, 726 0.8 761,994 0.2
1 303,670] -0.2 184,108 -0.8 487,778 —0.4
JI 379, 696 0.2 268, 090 1.4 647, 786 0.7
JI 19, 124 .1 10,3601 -0.9 29, 484 1.7
2 131, 200 .5 76, 046 3.2 207, 246 .0
My 38, 184 .4 12,268 -0.2 50, 4562 .3
e 488,358 -1.2 301,442 0.1 789,800 —0.8
g 46, 226 0.2 17, 638 .4 63, 864 0.2
I &% 82,888 -0.6 32,152 .1 115,040 -0.4
B 152,330f 0.1 58,744 0.1 211,074 -0.1
e 119,750 -0.5 67,044 0.0 186,794 -0.3
B 11, 108 0.1 5, 836 0.7 16, 944 .3
=) 38,364 -0.5 41,716 1.1 80, 080 .3
bk + 38, 302 0.4 18,982 -1.5 57,284 0.2
H P ¥ 7,056 -1.8 3,340 -0.3 10,396 -1.3
H i 3,242 2.2 1,788 -1.1 5,030 -1.8
F A (= 5,912 -2.4 5,606 -2.5 11,418| -2.4
K A 12, 568 0.8 5,632] -1.4 18, 200 0.1
UN e 8, 962 2.5 4,912 -1.9 13, 874 0.9

XOREEABEIT, CREABX2) THAELTWET,

2,310,208 —0.2]| 1,454, 330 0.5| 3,764,538 0.1




BoR K R () ANBOHM., T%1 M aiEEmns

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 423,268 -1.0 338, 726 0.8 761,994 -0.2
Zii H 119,604 -2.5 79,010 -0.6 198,614 -1.7
oK K 123,454 -1.6 77,5801 -0.3 201,034 -1.1
K H & 89, 142] -3.2 75,1221 -0.9 164, 264 | -2.2
B FH & 115, 418 0.3 66, 108 0.8 181, 526 0.4
il r 7~ 75,458 -2.8 38,4521 -1.7 113,910 -2.5
(Y P4 w 117,640 -1.5 58,568 -1.0 176,208 -1.3
B =3 T 24,190 -1.8 27,870 -1.9 52,060 -1.8
F OB oy B 17,250 -0.7 22,766 -1.7 40,016 -1.3
1K & 7S 68,204 -1.5 70, 728 8 138,932 -0.3
Hr 15 785,830 -0.7 682, 476 1| 1,468,306 -0.3
PN A (G 26,172 -2.8 21, 820 0.2 47,992 -1.4
W i L5 44,638 -3.1 31,962] -2.0 76,600 -2.6
h By 149, 334| -1.1 96, 356| -0.6 245,690 -0.9
& | ¥ b, 778] -1.8 40,332 -0.3 96,110 -1.2
I = SN 50,992] -2.3 35,200] -0.5 86,192| -1.6
FK 7 101,238 -2.5 65,360 -1.5 166,598 -2.1
i) FK bad 46,414] -1.0 33,8521 -0.1 80,266 -0.6
& P < 159,720 -1.2 115, 390 0.2 275,110 -0.6
= & 118,468 —1.3 60, 122| -0.5 178,590 -1.0
= i B 83,572 -0.9 38,468 -1.3 122,040 -1.0
) ] N S 38,4621 -1.2 16,608 -0.7 55,070 -1.0
RV A N O 76,670 0.2 36, 684 0.4 113, 354 0.2
o7 F 140,670 -1.0 68, 790 -1.3 209,460 -1.1
i8] o 30,0101 -1.1 23, 596 0.0 53,606 -0.6
hva 69, 344| -1.0 34,848] -1.0 104,192 -1.0
YA I 171,902 -0.7 139,834 -1.4 311,736 -1.0
H L5 39,490 -0.1 15, 928 0.2 55,418 0.0
g 5] 42,598 -3.0 16,944 -1.6 59, 542 -2.6
AN + + 93, 812 1.8 69, 136 1.3 162, 948 1.6
moooN E F 42,762 -1.6 18,322 -1.1 61,084 -1.4
= FE 40,908| -1.5 19,026 -2.4 59,934 -1.8
XEBEANBEIL, GREABEX2) TEHELTWET,
= 7 3,582,412 -1.1] 2,535,984 -0.2| 6,118,396 -0.8




R () ANBOHM., T%1 M aiEEmns

o

il % % A B A @ o A B (N
£ % E A % at % %

SE JI 171,902 0.7 139,834 -1.4 311,736 -1.0
[} I ) 6, 906 4.6 5,816| —6.4 12,722 -0.7
H® i 9,178 -2.1 4,558 -2.3 13,736 -2.2
H Zid 13, 680 0.6 6, 784 1.6 20, 464 0.9
HE = 33,056 -1.8 17,996 -1.0 51,062 -1.5
# = 36,784 -1.4 19, 368 0.0 56,162 -1.0
+ e 4,666 -1.9 3,640 2.7 8,306 —2.2
& 4 20,038 -2.1 11,930{ -0.2 31,968 -1.4
Ff 18,806 —0.6 8,936 -0.9 27,742 0.7
1E 24,012 -1.2 10,492 -1.0 34,504 -1.1
12 17,386 -1.0 8,852 0.1 26,238 -0.7
H i 9,562 -0.9 3,886 -1.8 13,448 | -1.2
il 9,922 -2.0 3,980 4.4 13,902 -2.7

XOFERABET, CEEABX2) THAELTWET,

375,898 —0.9 246,072 -1.3 621,970 -1.1




E B WO () ANBOAEM. (%] M arEns

il B 43 A g (N o AN B ()
R 4 £ M % E A % 7 % %
# = 36,784 -1.4 19, 368 0.0 56,152 -1.0
il I 1,960, -1.5 914 -5.2 2,874 2.7
H FK = 6, 930 0.5 2, 686 1.2 9,616 0.7
Tk ) 10,370 -1.1 4, 250 .6 14,620 -0.6
® W 51 H 5, 858 1.9 2,032 4.2 7,890 2.5
STV A N =) 3,734 -2.7 1, 530 .1 5,264 -1.1
® O OB W 5,988] -2.6 3,030 -0.9 9,018 -2.0

MEEREABSIT, (REABX2) TRHHELTWET,

p=(tl

& F 71,624 -1.1 33,810 0.3 105,434 -0.7




R & X & ) ANBOHM, [%1 WL aaEsmns

il B 43 A g (N o AN B ()

B 4 EOM % E A % 7t % %
R H 423,268 -1.0 338, 726 0.8 761,994 -0.2
Zii H 119,604 -2.5 79,010 -0.6 198,614 -1.7
K p- 3 Ji 212,676 1.3 248, 700 2.2 461, 376 1.8
il [ 7 75,468 -2.6 61, 336 -0.5 136,804 -1.7
- i 174,596 -0.4 175, 066 3.4 349, 662 1.5
% Za 21, 484 0.7 25, 984 0.5 47, 468 0.6
H -3 H 107,916 0.3 85,578 -0.2 193, 494 0.1
Bm H FH H 119,178 -0.7 68, 602 0.7 187,780 —0.2
S} i 49,248 -0.9 37, 008 0.8 86,2566| —0.2
*+ h B 8,868 -2.1 5, 098 1.0 13,966 -1.0
+ -+ 79,268 -1.9 41, 320] -1.8 120,588 -1.8
W + ES 217, 248 .0 16,008 -1.7 43,256| -0.6
7R D 102, 624 .3 72,068 0.9 174, 692 0.6
I H 104,990 -0.9 51,358 -0.4 156,348 | -0.7
[if] JI F 68,184 -1.6 32,858] -0.9 101,042 -1.4
ik 80,944| -1.6 34,006] -0.8 114,950 -1.4
] i} n 69,800 -1.6 43,014 0.8 112,814 -0.7
i} fn 103,942| -0.4 53,670 -0.4 157,612 -0.4
[ il Fn 69,500 -1.5 29,546 -1.6 99,046 -1.5
5. g 35,484 -1.3 13,114 0.5 48,598 -0.8
SR = S T 46, 648 1.9 33, 852 4.5 80, 500 3.0
PN = 300, 580 0.1 170, 908 0.6 471, 488 0.3
= UN 10,196 -0.5 5,090 -0.6 15,286| -0.5

XEREANEEIL, GREAEX2) TEHELTWET,

= 7 2,411,714 -0.6] 1,721,920 0.9 4,133,634 0.0




R R () ANBOHM., T%1 M aiEEmns

o

Gl % % A B A @ o A B (N
£ % E A % at % %

N 638,608 —0.5 450, 916 1.0 1,089,524 0.1
1 36, 180 0.7 24, 154 1.4 60, 334 1.0
% 46,686 —0.4 21, 402 .1 68,088 -0.3
P 102, 624 0.3 72, 068 .9 174, 692 0.6
7R H 24,400] -1.6 10,190| -0.1 34,590 -1.1
PN, 3 26, 218 0.6 12,708 -2.5 38,926 -0.4
/A 41, 382 1.3 18,118 1.7 59, 500 1.4
H 25,090 0.8 8,878 1.8 33, 968 1.0
Il M 25, 650 3.2 8,616 3.8 34, 266 3.3
I 61, 126 0.4 31, 454 1.3 92, 580 0.7
0] Fn 17,836 -1.4 6, 386 0.8 24,222 -0.8
=2 2 22,2501 -0.4 8,972 2.1 31, 222 0.3
A HT 18, 252 0.6 9,514 0.8 27,766 0.7
5 g 9, 496 2.9 6,798 -1.6 16, 294 0.9
=1 300, 580 0.1 170, 908 0.6 471, 488 0.3

XOREEABEIT, CREABX2) THAELTWET,

& 1,396,378 -0.1 861, 082 0.9| 2,257,460 0.3




o

OB R () NEOFM. [%] HliEstaiaEsmnes
| 7 g A I=EON wom AN B (N
& M % E 4 % H % %

T iz 174,596 -0.4| 175,066 3.4 349,662 1.5
= H 107,916| 0.3 85,578| 0.2 193,494 0.1

= 1] = 13,390 -2.9 6,134 -3.2 19, 524 -3.0
] T i 20,134 1.8 10,474| 2.0 30,608 1.9
T i 291,888 -1.1 96,382| 1.0 388,270 -0.6

i 22,382 5.4 9,792 -1.7 32,174 -4.3

<) 50,670, -1.8 27,306 -0.7 77,976 -1.4

HT 59,002| 0.4 29,104| 0.2 88,106| 0.2

=l 135,852 -1.4 60,470| -1.1 196,322 -1.3

N = 28,3001 -1.0 13,232 -0.2 41, 532 -0.8

1% 34,778 -1.1 13, 870 1.9 48, 648 -0.3

fox = 44,502| -0.8 27,064| 0.9 71,566 0.1

I 4 34,570 -2.3 14,678 -1.6 49,248 -2.1

1A 43,954 -1.0 19, 268 0.1 63, 222 -0.7

i 161,976 -1.5 75,244 0.1 237,220 -1.0

e 28,904 -3.2 9,946| 0.7 38,850 2.6

1% ¥ 42,694 -1.2 17,284 -1.9 59,978 -1.4

+ = 32,4201 -0.9 10,248 -1.7 42, 668 -1.1

F 42,858| —4.0 13,772 -4.8 56,630 —4.2

XOREEABEIT, CEEABX2) THAELTWET,

& 1,370, 786| -1.1 714,912 0.6 2,085,698 -0.5




n A () ANBOHM., T%1 M aiEEmns

il B 43 A g (N o AN B ()
R 4 EOM % E A % 7t % %
PN =4 300, 580 0.1 170, 908 0.6 471, 488 0.3
H 1 19,114 0.4 5, 664 2.2 24,778 0.8
iit) K = 9,464| 13.2 2,976 10.1 12, 440 12. 4
5] I55] 17,890 -4.2 4,638 -1.9 22,5281 -3.7
[£3] o 7 11, 100 0.7 4, 658 0.3 15, 758 0.5
JI ik 49,812 -1.5 22,876 -0.6 72,688 -1.2

XERABEIT, CEEARX2) THAELTWET,

& i 407, 960 0.0 211,720 0.5 619, 680 0.2




#w K K & () ANBOHM., T%1 M aiEEmns

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 423,268 -1.0 338, 726 0.8 761,994 -0.2
H OB K G 26,766 -1.0 9,246 -1.3 36,012 -1.1
5] oy g 34,136f -0.1 14,662 -0.1 48,798 | -0.1
i % Y 112, 246 0.2 86, 088 0.0 198, 334 0.1
& = 69, 766| -1.0 40,206 -1.3 109,972 -1.1
A JF 41,522 -1.5 20, 226 0.0 61,748 -1.0
Hr N A 94, 246| -1.2 46, 622 -0.4 140,868 | -1.0
N e 81,834 -1.6 42,268 -1.6 124,102 -1.6
sl ) 78,214 -1.1 38,448 -1.1 116,662 -1.1
VN AN S 72,440 -1.1 40,846 -1.8 113,286| -1.4
T & 30, 158 -2.3 15,612 -1.0 45,7701 -1.9
iz} i & 159,560 -1.0 90, 992 0.5 250,552 -0.5
i & 176,636 -1.0 90,910{ -0.2 267,546 -0.7
W e 1% 26,224 -0.3 10, 900 0.8 37, 124 0.0
H a5} W 143,822 -0.2 58, 832 0.8 202, 654 0.1
- I NI 3b, 214 0.0 16,652 -0.5 51,866| —0.2
h2 ik 22, 248 0.7 8, 748 1.9 30, 996 1.0
oo i) 31,648 -1.3 14,096 -0.4 45,7441 -1.0
Fig e 67,574 -2.0 31,368] -0.7 98,942 -1.6
[iic} + i 33,548] -3.0 12,866 -1.7 46,414 -2.6
+ 3 125,966 -0.7 83,610 -1.4 209,576 -0.9
72 I VAN 123,454 -1.6 77,5801 —0.3 201,034 -1.1
K 1 JE 212,676 1.3 248, 700 2.2 461, 376 1.8
& . & 63,954 -3.3 38,996 -2.3 102,950 -2.9
E0] 46,478 -3.5 29,372 0.2 75,850 -2.1
XKEREANBEIT, CGREABX2) THELTWET,
= 7 2,333,598 -0.9]| 1,506,572 0.2 3,840,170 -0.4




R =3 )R () ANBOLM. T%]) A3 AR
il P 43 A g (N woawm AN B ()
R 4 EM % E A % it % %
R H 423,268 -1.0 338, 726 0.8 761,994 -0.2
AN T it 37, 138 0.1 20,786 —0.2 57,924 0.0
el s = 5, 464 3.4 2, 808 2.6 8, 272 3.1
| 5, 13,020 -0.4 6,768 -0.8 19,788 -0.6
Hr N i 82,006 -2.2 46,966 -1.6 128,972 -2.0
BT R A 12, 658 0.3 10,630, -6.5 23,288 -2.9
p. b 54,8421 -3.3 72, 954 0.6 127,796 | -1.1
H il w7 77,406 -1.9 29,902| -2.5 107,308 -2.1
mooJI k= 8, 436 4.8 4,316 6.7 12, 752 5.5
B O T 1 6,962 -7.0 2,696 -2.2 9,658 5.7
4] e & 19,670 -2.8 18,622 -0.7 38, 292 -1.8
oo &K W 18,092 -1.1 6,972 -1.2 25,064 -1.1
W FHOR 65, 794 0.4 41, 750 6.4 107, 544 2.6
S 7 R 1| B == 21,7621 -1.8 8,678 -0.5 30,4401 -1.5
£ W 5 30, 738] -2.8 11,486 -0.7 42,224 -2.3
T % A ook 19,204 -1.5 9,914 -3.6 29,118 -2.2
#F E5 41,552 -1.3 19, 474 0.5 61,026 -0.7
KEEANBEIL, GREAEX2) TEHELTWET,
= 7 938,012] -1.3 653, 448 0.5 1,591,460 -0.6






